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   lg)f{o g+=1  

/lhZ^]zg k|of]hgsf] nflu xfn sfod e} cfPsf] Go"gtd d"Nofª\sg\nfO{ ;do ;fk]If?kdf kl/jt{g ug{ ;*ssf] 

kx'r,j:tLlj:tf/,Jofkf/ Jofj:fo,l;~rfO{,j(\bf] zx/Ls/)f / xfnsf] vl/b,ljlqm rngrNtL d"No ;d]tnfO{ dWo]gh/ u/L 

kl/jlt{t\ cj:yfdf k'gMd"Nof+ª\sg u/L cfufdL cf=j=2077÷78sf] nflu ldlt 2077 ;fn >fj)f 1 ut]jf^ nfu" x'g]u/L lgDg 

cg';f/sf] Go"gtd\ d"Nofª\sg sfod u/L nfu" ug]{ lg)f{o ul/of] .  

 tkzLn 

               k|lt/f]kgL sfod ul/Psf] Go"gtd\ d"Nofª\sg  

l;=g+= uf=lj=;= lsl;d  cjn  bf]od l;d  rfxf/ s}lkmot 

1 s&hf]/ v]t 1100000 1045000 965000 414000 j*f g+= 1 s,2v / 2u 

dfq  

585000 510000 441000 216000 j*f g+= 7^,7r / 7 ` 

dfq  

372000 317000 276000 180000 cGo If]q  

kfvf  593000 524000 272000 204000 j*f g+= 2s / 2v  

759000 690000 524000 252000 j*f g+= 1s / 2u dfq  

290000 235000 214000 102000 j*f g+= 3s,3v,3u, 7 # 

/ 1v dfq . 

82500 62000 53000 30000 cGo If]q  

s_s&hf]/ uf=lj=;=j*f g+=1s,2s, 2u / 3s gS;fdf kg]{ j;kfs{b]lv e'Q]vf]nf ;Dd / dbg cfl>trf]s b]lv dGynL SofDk;;Dd 

d"Vo ;*sn] %f]Psf] lsQfsf k|lt/f]]kgL ? 41,40,000.– -Psrfln; nfv rfln; xhf/ ?k}of dfq_ / s&hf]/ uf=lj=;=j*f g+=1s,2s / 

2u gS;fdf kg]{ leqL ;*sn] %f]Psf lsQfx?sf k|lt/f]kgL ? 11,50,000.– -P#f/ nfv krf; xhf/ ?k}of dfq_] sfod ug]{ .  

v_e'Q]vf]nfb]lv vfgLvf]nf;Dd  d"Vo ;*sn] %f]Psf] lsQfsf k|lt/f]]kgL ? 11,50,000.– -P#f/ nfv krf; xhf/ ?k}of dfq_] sfod 

ug]{ .  

2= s'j'sf:ynL v]t 73000 55000 44000 25000  

kfvf  27500 20000 17500 14000  

3 vlgofkfgL v]t 22000 20000 17500 14000 cGo If]q  

291500 258500 187000 125000 n'j' jhf/ If]q  

kfvf  25000 20000 17500 14000  

4 ufun v]t 187000 137500 100000 72000  

kfvf  55000 44000 38500 25000 j*F g+= 4u dfq  

22000 20000 117500 14000 cGo If]q  

vf*F+b]jL ufp+kflnsf s]Gb| hfg] l;Tvf ,uf]ugkfgL ufNjf jhf/ If]qsf] bfofjfof ;*sn] %f]Psf] lsQfsf] k|lt/f]kgL ? 240,000.– -b"O{  

nfv rfln; xhf/ ?k}of dfq_ sfod ug]{ . 

5 u'Db]n v]t 44000 31000 24500 17000  

kfvf 22000 20000 17500 14000  

6 u'G;L v]t 170000 143000 126500 70000  

kfvf 49500 41000 37000 20000  

7 u]n' v]t 212500 126500 109000 75000  

kfvf 26500 22000 20000 14000  

8  lr;fkfgL v]t 460000 380000 310500 200000 j*F g+ 5 ;j} / 3u dfq 

305000 241500 207000 140000 j*f g+= 8/9 ;j}  

247000 207000 195500 120000 cGo If]q  

kfvf 362000 230000 172500 100000 j*f g+= 5s/5v ufO{v'/f 

;*sn] %f]Psf] lsQfx?  

34000 27500 22000 18000 cGo If]q  

9 lrnfpg]vs{  v]t 264000 210000 172500 82000  

kfvf 27500 22000 19000 15000  

10 r'r'/] v]t 40000 33000 27500 18000  

kfvf 99000 84000 60500 39000 j*f g++= 7s dfq 

24000 21000 17500 14000 cGo If]q  
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11 rf]k|fª v]t 72500 60500 48500 38000  

kfvf 24000 20000 17500 14000  

12 ^F]s/k'/ v]t 120000 104000 82500 55000  

kfvf 25000 21000 17500 14000  

bf]/Djf ufp+kflnsf s]Gb| hfg] ;*sn] %f]Psf] lsQfsf] k|lt/f]kgL ? 240,000.– -b"O{  nfv rfln; xhf/ ?k}of dfq_ sfod ug]{ . 

 

13 &F];] kfvf 134000 100000 80000 55000 j*f g++= 5 / 8 dfq  

31000 27500 24000 17000 cGo If]q  

14 ltNk'ª s^x/] v]t 335500 297000 245000 175000 j*f g++= 5u / 6v dfq  

121000 100000 82500 60000 cGo If]q-rfxf/ jfx]s ;a}df 

;/b/ 10 k|ltztsf b/n] 

j[l$ ePsf] 

kfvf 27500 22000 19000 15000  

15 ltNk'ª gfubx v]t 75000 68000 55000 36000  

kfvf 143000 121000 110000 80000 j*f g++=1u / 3% dfq  

25000 21000 18000 14000 cGo If]q 

ltNk'ª s^x/],ltNk'ª gfubx cGtu{t xn]b]j]zL–ltNk'ª – gfubx–wf]jL–lzl/z] ;*sn] %F]Psf] lsQfsf] k|lt/f]kgL ? 

1250,000.–     -jf¥x nfv krf; xhf/ ?k}of dfq_ sfod ug]{ .  

16 lbdLkf]v/L v]t 95000 79000 63000 42000  

kfvf 26500 22000 17500 14000  

;'gfktL ufpkflnsf s]Gb| hfg] ;*sn] %f]Psf] lsQfsf] k|lt/f][kgL ? 240,000.– -b"O{ nfv rfln; xhf/ ?k}of dfq_ sfod ug]{ .   

 

17 bf]/Djf v]t 75000 56000 48500 32000  

kfvf 25000 22000 17500 14000  

18 gfdf*L v]t 255000 209000 170500 110000 j*f g+=1,5,6/ 

121000 85000 68000 50000 cGo If]q 

kfvf 139000 121000 102000 63000 j*f g+=1,5,6/  

24000 21000 17500 14000 cGo If]q 

19 gfuynL v]t 935000 764500 605000 505000 j*f g+=6 s / 6v  

577500 473000 341000 230000 j*f g+=6;j}  

550000 506000 374000 230000 j*f g+= 1 em dfq  

462000 345000 380000 260000 9u dfq  

275000 236500 198000 80000 cGo If]q 

kfvf 37500 31000 25000 19000  

s_ gfuynL uf=lj=;=6s,6v gS;fdf kg]{ vfgLvf[]nf b]lv lvDtLvf]nfsf] kSsLk'n;Dd d'Vo ;*sn] %f]Psf] lsQfsf] k|lt/f]kgL  

?=20,00,000.– -jL; nfv ?k}of dfq_ / gfuynL uf=lj=;=6s gS;fsf] leqL ;*sn] %f]Psf] lsQfsf] k|lt/f]kgL? 12,00,000.–   -

jf¥x nfv ?k}of dfq sfod ug]{ .   

v_ gfuynL kmk'{ xfn &f];];Dd v'n]sf] gof ;*sn] %f]Psf] lsQfsf] k|lt/f]kgL ? 120,000.– -Ps nfv jL; xhf/ ?k}of dfq_  sfod 

ug]{ .    

20 ks/jf; v]t  726000 577500 533500 440000 j*f g+= 1s dfq  

  330000 291500 264000 180000 j*f g+= 1s jfx]s 1 b]lv 5 

;Dd dfq  

198000 154000 115500 80000 j*f g+= 6 b]lv 9 ;Dd  

kfvf 36000 30500 26500 20000 j*f g+=4 b]lv 9 ;Dd  

30500 24500 18500 15000 j*f g+= 1s jfx]s 1 b]lv 3 

;Dd dfq  

68000 44000 35000 18000 j*f g+= 1s dfq  

21 k'/fgfufp  v]t 90000 82000 75000 50000  

kfvf 33000 24000 20000 14000  



3 

 

22 lk|tL v]t 73500 62500 55000 28000  

kfvf 49500 44000 37000 28000 j*f g+= 7s,9u/5v dfq  

25000 22000 21000 16000 cGo If]q  

pdfs')* ufp+kflnsf s]Gb| hfg] ;*sn] %f]Psf] lsQfsf] k|lt/f][kgL ? 240,000.– -b"O{ nfv rfln; xhf/ ?k}of dfq_ sfod ug]{ .    

 

23 km'nf;L v]t  1010000 839500 718500 480000 j*f g+= 1s dfq] 

166000 143000 132000 100000 cGo If]q  

kfvf  69000 57500 32000 17000 j*f g+= 8/9 dfq 

28000 23000 21000 15000 cGo If]q  

s_km'nf;L 1s gS;fdf kg]{ b]lj^f/sf] kSsL k'nb]lv ldlNtvf]nfsf] k'ndf kg]{ lkr ;*sn] %f]Psf] lsQfx?sf] k|lt/f][kgL ? 

14,95,000.–    -rf}w nfv kGrfgJj] xhf/ ?k}of dfq_ sfod ug]{ .  

v_km'nf;L uf=lj=;=sf] b]lj^f/ –kf]v/L– bf]/Djf ;*sn] %f]Psf] lsQfx?sf] k|lt/f][kgL ?690,000.– -% nfv gJj] xhf/ ?k}of dfq_ 

sfod ug]{. 

 24 jf+sLd]/L v]t 638000 522000 506000 340000 j*f g+=5^ dfq 

431000 262000 310000 160000 j*f g+=1 b]lv 3 ;Dd  

184000 172000 138000 80000 cGo If]q 

kfvf  437000 241000 195500 100000 j*f g+=5^ dfq 

28500 23000 20000 15000 cGo If]q  

25 afDtL v]t 100000 77000 66000 36000  

kfvf 412000 286000 187000 130000 j*f g+= 2s ,2v /  3 s,3v 

dfq 

27500 23000 20000 15000 cGo If]q 

26 ljh'nLsf]^ v]t 266000 231000 198000 95000 j*f g+=5s / 5v dfq  

110000 88000 79000 40000 cGo If]q  

kfvf  165000 148000 137000 110000 j*f g+=1s,1#,6s,6v,1ª, 

2u,2# /2`  

66000 35000 25000 18000 cGo If]q  

27 a]tfnL v]t 247000 187000 154000 72000  

kfvf 187000 170000 130000 90000 j*f g+=6s / 7s dfq  

45000 31000 28000 23000 cGo If]q  

j]tfnL– /:gfn'–&f];] hfg]  ;*sn] %f]Psf] lsQfx?sf] k|lt/f]kgL ? 770,000.– -;ft nfv ;Q/L xhf/ ?k}ofdfq_ sfod ug]{ .  

28 j]yfg v]t 286000 242000 170000 110000  

kfvf 198000 143000 101000 60000 j*f g+= 2 jhf/ If]q / ;*ssf] 

bfofjfof 

35000 25000 20000 15000 cGo If]q  

29 en'jfhf]/ v]t 1380000 1265000 1138000 600000 j*f g+=4s dfq  

845000 765000 620000 460000 j*f g+=1s,4v /4# dfq  

270000 195000 166500 85000 cGo If]q  

kfvf 782000 621000 440000 340000 j*f g+=4u,4#,4ª,4r / 4% dfq  

143000 138000 86000 50000 j*f g+=3 s dfq  

69000 55000 42500 20000 cGo If]q  

920000 828000 690000 480000 ;'sfhf]/ vf]nf b]lv 

;]n]#f^;Ddsf] kLr ;*sn] 

%f]Psf]  

s_ en'jfhf]/ 4s / s&fhf]/ 1s, dGynL jhf/If]q j;kfs{b]lv b]jsf]^F rf]s x'b} lj=lk= rf]s;Dd, b]jsf]^F rf]s b]lv dfnkf]t 

sfof{nosf]  u]^;Dd ,jhf/b]lv lhNNff k|zf;g sfof{no sf] u]^;Dd / d"Vo ;*sjf^ gu/kflnsf cf;kf;sf] If]q;Dd ;*sn] %f]Psf] 

lsQfx?sf] k|lt/f][kgL ? 1,61,00,000.– -Ps s/f]* Ps;&\&L nfv ?k}ofdfq_ sfod ug]{ .    

v_ en'jfhf]/ 4s, s&fhf]/ 1s / ;'gf/kfgL 7% gS;fdf kg]{  lj=lk= rf]sb]lv /)Fhf]/ vf]nf kSsL k'n;Dd d"Vo ;*sn] %f]Psf] 

lsQfx?sf] k|lt/f][kgL ? 1,38,00,000.– -Ps s/f]* c*\tL; nfv ?k}of dfq_ sfod ug]{ .  

u_ en'jfhf]/ 4s, s&fhf]/ 1s / 2u gS;fdf kg]{ dfnkf]t u]^b]lv lh=k|=sf x'b} cfo'j]{b cf}iffwfno,j;kfs{ ;Dd,dGynL gu/ ljsf;n] 

ljt/)f u/]sf] #*]/L If]qsf] lelq ;*sn] %f]Psf] / en'jfhf]/ 4v gS;fdf kg]{ e};]Zj/rf]s b]lv ;'sfhf]/ vf]nfsf] sh–j] ;Dd d"Vo 

;*sn] %f]Psf] lsQfx?sf] k|lt/f]kgL ? 80,50,000.– -c:;L nfv krf; xhf/ ?k}of dfq_ sfod ug]{ . #_ en'jfhf]/ 4s gS;fdf 

kg]{ leqL ;*sn] %f]Psf] lsQfx?sf] k|lt/f][kgL ? 17,60,000.– -;q nfv ;f&\&L xhf/ ?k}of dfq_ sfod ug]{ .  
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30 eL/kfgL v]t 550000 450000 363000 125000 j*f g+ 1v l;Tvf  

231000 192000 121000 70000 cGo If]q  

kfvf 44000 22000 20000 15000  

31 e'hL v]t 66000 57000 50500 32000  

kfvf 25000 22000 20000 15000  

32 e+u]/L  v]t 161000 120500 80500 40000  

kfvf 253000 195500 161000 90000 j*f g+=9em dfq  

126000 97500 80500 55000 j*f g+=2,3,4,5,7/ 8  dfq  

391000 3450000 253000 130000 j*f g+=1s dfq  

253000 218500 195500 55000 j*f g+=4s /4v dfq  

195500 184000 155000 85000 j*f g+=3s dfq  

46000 32000 25000 17000 cGo If]q  

 

s_ en'jfhf]/4v,e+u]/L 1s /)fhf]/ v]nfsf] kSsL k'nb]lv ;'sfhf]/ vf]nfsf] kSsL k'n;Ddsf] bfofjfof ;*sn] %f]Psf] lsQfx?sf] 

k|lt/f][kgL ? 36,80,000.– -%lQ; nfv c:;L xha/ ?k}ofdfq_ / en'jfhf]/4v,e+u]/L 1s df kg]{ leqL ;*sn] %f]Psf] lsQfx?sf] 

k|lt/f]kgL ? 9,20,000.– -gf} nfv jL; xhf/ ?k}of dfq_  sfod ug]{ . 

v_e+u]/L 3s,3v,3u,3#,3r,3h,3em,4s,4v,4#,9em gS;fdf kg]{ ;'sfhf]/ vf]nfb]lv /fd]%fk jhf/ x'b} /fd]%fk c:ktfn ;Dd ;*sn] 

%f]Psf] lsQfx?sf] k|lt/f]kgL ? 24,20,000.– -rf}lj; nfv jL; xhf/ ?k}of dfq_ sfod ug]{ .  

33 dem'jf v]t 93500 77000 68000 35000  

kfvf 30500 26500 20000 15000  

34 d'lu^f/ v]t 966000 874000 690000 480000 j*f g+=6v dfq 

598000 517500 322000 270000 j*f g+=6 ;j}  

471500 345000 322000 190000 j*f g+=1 b]lv 5 ;Dd  

218500 184000 172500 90000 cGo If]q  

kfvf  189500 143500 103500 40000 j*f g+= 3 u dfq  

195500 115000 92000 300000 j*f g+= 4s / 4v  dfq  

161000 138000 80500 28000 j*f g+=6 v dfq  

74500 57500 40000 25000 cGo If]q  

35 /:gfn' v]t 88000 73000 50000 32000  

kfvf 45000 31000 26000 20000 j*f g+= 4 / 9 dfq  

28000 23000 20000 15000 cGo If]q  

uf]s'nu+uf ufp+kflnsf s]Gb| /x]sf] :yfg / bfofjfof ;*sn] %f]Psf] lsQfsf] k|lt/f]kgL ? 7,70,000.– -;ft nfv  ;Q/L 

xhf/ ?k}o fdfq_ sfod ug]{ .  
36 /fsfy'd  v]t 220000 2100000 170000 100000  

kfvf 35000 26000 22000 15000  

37 /fdk'/ v]t 75000 57000 48000 30000  

kfvf 36000 28000 25000 15000  

38 nvgk'/ v]t 115000 101000 86000 46000  

kfvf 35000 25000 21000 16000  

39 l;?jf/L v]t 86000 57000 43000 30000  

kfvf 30000 25000 21000 15000  

40 ;'sfhf]/ v]t 190000 172000 144000 70000  

kfvf 80000 62000 53000 38000  

41 ;fn' v]t 276000 247000 161000 110000  

kfvf 205000 161000 126000 70000 j*f g=+5#,6u / 8# dfq  

75000 57000 29000 20000 cGo If]q  

42 ;'gf/kfgL v]t 1380000 1265000 1150000 520000 j*f g=+7%,7h/ 7em dfq  

1150000 1035000 805000 300000 j*f g=+6# / 7 ;j}  

495000 345000 265000 125000 cGo If]q  

kfvf 470000 420000 322000 155000 j*f g=+6# / 7 ;j}  

128000 110000 70000 42000 j*f g=+1 ;j}  
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1150000 1035000 965000 800000 j*f g=+7h / 7em dfq  

82000 69000 57000 28000 cGo If]q  

dR%]*F+*L ,;'gf/kfgL ,;fn' b]p/fnL *f+*F;Dd ;*sn] %f]Psf] lsQfsf]  k|lt/f]kgL ? 345,000.– -tLg nfv k}tfln; xhf/ ?k}of dfq_ 

sfod ug]{   

43 ;}k' v]t 385000 286000 236000 110000 j*f g=+1s / 1v dfq .  

154000 137000 115000 72000 cGo If]q  

 46000 27500 24000 15000  

ltNk'ª s^x/],ltNk'ª gfubx cGtu{t xn]b]j]zL–ltNk'ª – gfubx–wf]jL–lzl/z] ;*sn] %F]Psf] lsQfsf] k|lt/f]kgL ? 

1250,000.–     -jf¥x nfv krf; xhf/ ?k}of dfq_ sfod ug]{ .  

 

lg)f{o g+=2 s;}n] sfof{nonfO{ em'SofO{ Go"gtd d"Nofª\sg eGbf sd y}nL /fvL lnvt kfl/t u/]sf] s'g} tl/sfn] hfgsf/L x'g 

cfPdf ck'u /fhZj ;/sf/L jf+sL ;/x c;'npk/ ul/g]% . To:tf] sfo{ ug]{ JolQm jf ;+:yfsf] yk /fhZj c;'n geP;Ddsf 

nflu hUuf jf #/ hUuf /f]Ssf /flvg]% .  

lg)f{o g+=3 kfl/t x'g] lnvtdf #/ ;d]t pNn]v ePsf]df ;DjlGwt :yfgLo txn] u/]sf] #/sf] d"Nofª\sgnfO{ cfwf/ jgfO{ /fhZj 

cz'n ul/g]% . 

 lg)f{o g+=4 Go"gtd d"Nofª\sg tof/ ubf{ s'g} :yfgsf] d"Nofª\sg %'^ x'g uPdf ljut cf=j=sf] d"Nodf g#^\g] u/L ;f] %'^ x'g uPsf] 

:yfg;+u hf]l*Psf] gS;f ;/x x'g]% .  

lg)f{o g+=5 o; d"Nofª\sg k':tLsfdf ;*s df]x*fsf] d"Nofªsg ul/Psf hUufx? eL/,ju/,klx/f]df k/L #*]/Lsf] ?kdf k|of]udf 

gcfpg] egL :yfgLo txjf^ l;kmfl/; e} cfPdf jf gfkL sfof{nosf] :ynut k|ltj]bg cfPdf jf cGo tj/n] dfnkf]t sfof{no 

ljZj:t ePdf pQm hUUffsf] jf^f] geP;/x d"Nofª\sg sfod ul/g]% .  

 lg)f{o g+= 6 pko'{Qm cg';f/sf] Go"gtd d"Nofª\sg /lhi^]zg k|of]hgsf] nflu ldlt 2077 >fj)f 1 ut]jf^ nfu" ug]{ lg)f{o ul/of].  

 

 

 

 

 

 

 

 

 

 

 


